1. REHH

SHLEEMBERRNERTOTSLBP) IREKRR

B TE R (B%) Rt
% 4 37 298
XEMTEERBEGH:37H
2. BETOTSLDAR
[REREERI]
X4 SE (&) R
ESfva 7 76
ASYa 3 23
% N
=
FAIL 26 176
INE 36 275
. AT 0 2
Hl-'i
9}3 FhIL 1 20
=
INE 1 22
ESfiva 0 1
g
AT 0 0
=)
Fq
= FhIL 0 0
B
INE 0 1
E3kva 7 77
- AT 3 24
i Fh37 27 197
INE 37 298




(BIEEEAT 0 S5 L - IEFRRFR R ]

FRE B (BE)Rit
BISSIBAT OS5 L 24 157
- ssmemongsn | | 4
(60RF 1 L L 1 20B5 RE R 5)
IEFRERTE 13 141
ait 37 298
EEEEZ?sﬁ?é@i%@f@gsﬁé%ﬁﬁﬂﬁﬁfﬁaﬁb\umam:ﬁmzém; LERIMEOBMLLEDRRDRIE. B TEI
[F. HERFEIZLY . PREFEORE ISR ITOTSATHAZLRUZ DR HEE L BIETRBEX .
[(7—=351]
REHH (8%) Rt
TR 6 78
JFIERTTBED ’ 29
*)FTVT
R EEMEE 6 64
#7784 (HhigE L) 9 74
ait 22 245

K1EOBMBETERDT—IERE
BEHTERF G- BEGEHE—ELGL,

LTWBIEEPRETET IO LENERELNH LD,



(#higi71]

REMHE (BE) Rt

tiEE tiEE

BHR

5FR

BEHE

wi HhE e

W

EER

mARR

HER

BIR BER

TER

RARER

AR

EWR

i=glESS

BHE

i ME

EHE

I B 1R

—

B R

R

=ER

HER

AR KT

=F:i] KBR 1

— N

EER

=RR

L E

SRE

SRR

P fiE L1 R

LER

AR

BER

EFINE

S FER

SR

1R R

EER

Ju AR

bk XaR

BiEE

EREER

OICCIOIOIN|O|=|O|IO|=|—|C|IC|C|IC|O|C|(CO|O|=|—=(CO|=IN|OIN|O|C|C|C|C|IC|IQ|ID|IN|IN|O|CO|O|O|—=|—=|C|O|—=IN
w
[SIENECE EEN ) [ee) [e]) [oe) BN 1 O) Eo [F6] [JV] B[4 ] Bl (o] (e (] FoN Vo] N3 E g (4] [V ENE B LV Bl (o] [eo] [e] [a] (4] [o>] [oo] [Tod ELg [NoR [ ] B L\ B B B | ) BN

R

aft

w
~

298

ol




